CLASS HANDOUT 2
I  a) Every year large numbers of students travel abroad to study at university. Most of them
spend thousands of pounds on their degree courses. The cost of travel and accommodation adds significantly to their expenses. But they could save a lot of money by studying their courses online, using the internet and email. Increasing numbers of universities are offering tuition by the internet, and this has many advantages for students. In the future most students are likely to stay at home and study in front of a computer.

b) London is an ideal city for young students. Britain’s lively capital, with a population of
two million, is the perfect place to live and study. Cheap, comfortable accommodation is always available, and transport is provided by the clean and reliable underground system. Another advantage is the friendly citizens, who are well-known for their custom of stopping to chat with strangers. Overall, London is probably the best place in the world to study English.

c) A leading academic has claimed that European unemployment has been made worse by high rates of home ownership. He argues that the growing trend towards owner occupation
is the best explanation for the high rates of unemployment in Europe. This, he argues, is because home owning makes people more reluctant to move if they lose their job. His research suggests that a strong private rented sector is the key to low unemployment. For example, Ireland, where only 9% rent their homes, has an unemployment rate of 8%. At the other extreme, Switzerland has a rental rate of 60%, but only 3% are unemployed.

d) Global warming affects most people in the world, especially those living in low-lying areas near the sea. It has been predicted that the melting of polar ice may cause the sea to rise by as much as twelve metres by 2050. This would cause flooding in many major coastal cities, such as Tokyo. It has been suggested that the best solution to this problem may be for mankind to become amphibious, like frogs. It is argued that life was originally found in the sea, and so it would merely be a return to our original habitat. 

e) There is shocking new evidence of the effects of heavy alcohol consumption by young
people. In Britain in 2000 nearly 800 people under 44 died from cirrhosis of the liver, a
condition which is mainly caused by excess drinking. This is over four times higher
than the number in 1970. As a result, the government is studying the possibility of
compulsory health warnings on alcohol advertising. The growing problem seems to be
due to ‘binge’ drinking among the young, when drinkers deliberately set out to get
drunk.

II Categorize the statements according to whether they express a fact or an opinion. Underline the language in the sentences that indicates the author’s opinion.
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III Decide whether each word below is associated more with objectivity or subjectivity.
Compare answers and explain your choices.
Investigation; news story; reporting; guesswork; observation; prediction; speculation; 
proof; interpretation; viewpoint; opinion; critique

IV Give examples how the following can be both subjective and objective. 
A newspaper article/editorial; the discussion section of a research article; a university prospectus; a university textbook on media studies
V Read the text below and then decide which is the best paraphrase, (a) or (b).
	Ancient Egypt collapsed in about 2180 BC. Studies conducted of the mud from the River Nile showed that at this time the mountainous regions which feed the Nile suffered from a prolonged drought. This would have had a devastating effect on the ability of Egyptian society to feed itself.
a) The sudden ending of Egyptian civilisation over 4,000 years ago was probably caused by changes in the weather in the region to the south. Without the regular river flooding there would not have been enough food.
b) Research into deposits of the Egyptian Nile indicate that a long dry period in the mountains at the river’s source may have led to a lack of water for irrigation around 2180BC, which was when the collapse of Egyptian society began. 

VI Below is an excerpt from a book with two examples of paraphrasing. Look at both examples and choose which is the good example and your reasons why.
Original text
 If a decade or two ago, gender discrimination applied tacitly to women, that no longer serves as the exclusive framework for understanding its contemporary usage. Discrimination against women continues - especially poor women and women of colour, if we consider the differential levels of poverty not only in the United States, but globally - so this dimension of gender discrimination remains crucial to acknowledge. But gender now also means gender identity, a particularly salient issue in the politics and theory of transgenderism and transsexuality. (Butler, 2004 p.28)
Butler, J. (2004) Undoing gender. Abington: Routledge.

Example 1
Until ten or twenty years ago, the term "gender discrimination" was generally understood to mean discrimination against women, which remains to this day an important aspect of gender discrimination and therefore still topical. However, since the early nineties the definition of "gender" has changed to now also encompass gender identity, which plays a major part in the politics and theory of transgenderism and transsexuality." (Butler, 2004 p.28)

Example 2
Butler (2004) recognises that discrimination against women remains rife worldwide and therefore current. Significantly, however, she moves on to argue that the term "gender" itself has stretched since the early nineties when it narrowly described discrimination against women, to also encompass gender identity, and that consequently this shift in understanding ahs major implications in the fields of transgenderism and transsexuality."  (Butler, 2004 p.28).

VII Below is an excerpt from a book with two examples of paraphrasing. Look at both examples and choose which is the good example and your reasons why.

Original text 
The education system has performed, on an even wider scale, a major task of social control, training the growing workforce in the discipline and work style necessary in a capitalist economy, and systematically conveying ‘acceptable’ -  i.e. safe -  social attitudes to the rising generations. 
Jagtenberg & D’Alton’s Four Dimensional Social Space

Example 1
According to Jagtenberg and D'Alton (1988), the education system is the major form of control in a capitalist economy.

Example 2 
According to Jagtenberg and D'Alton (1988), the education system has performed social control in a capitalist society: training the growing workforce and work style, and teaching 'acceptable' social attitudes for the young generations.

VIII Combine all these techniques to paraphrase the paragraph as fully as possible.
Sleep scientists have found that traditional remedies for insomnia, such as counting sheep, are ineffective. Instead, they have found that imagining a pleasant scene is likely to send you to sleep quickly. The research team divided 50 insomnia sufferers into three groups. One group imagined watching a waterfall, while another group tried sheep counting. A third group was given no special instructions about going to sleep. It was found that the group thinking of waterfalls fell asleep 20 minutes quicker. Mechanical tasks like counting sheep are apparently too boring to make people sleepy. There are many practical applications for research into insomnia. About one in ten people are thought to suffer from severe insomnia. It is calculated that the cost of insomnia for the American economy may be $35 billion a year.

IX Use the same techniques to paraphrase the following text.
Before the last century no humans had visited Antarctica, and even today the vast continent has a winter population of less than 200 people. However, a recent report from a New Zealand government agency outlines the scale of the pollution problem in the ice and snow. Although untouched compared with other regions in the world, the bitter cold of Antarctica means that the normal process of decay is prevented. As a result some research stations are surrounded by the rubbish of nearly 60 years’ operations. 
Despite popular belief, the polar continent is really a desert, with less precipitation than the Sahara. In the past, snowfall slowly covered the waste left behind, like beer cans or dead ponies, but now, possibly due to global warming, the ice is thinning and these are being exposed. Over 10 years ago the countries using Antarctica agreed a treaty on waste disposal, under which everything is to be taken home, and this is slowly improving the situation. However, the scientists do not want everything removed. The remains of very early expeditions at the beginning of the twentieth century have acquired historical value and will be preserved.
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5 Identifying main points in a text for a summary 
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8 Rank each set of words from Text 1 from   most objective to most subjective.
1. Attributed, documented, unfounded, unsupported
2. Guesswork, interpretation, reality, speculation
3. Comment, interpret, report, transcribe

9 Find the words in Text 1 and put them into categories.
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10  What function do the following words have in Text 1? Find more examples.
Carefully; properly; proven; confirmed; reliable
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